Puzzle 13019 - Friday, 22 July, 2016 - Difficulty 3

5 1 141 8 12 5 1 14
2|69 |57 81431
“’1’1’1113 %ffij:,ffffff,‘: il i 1’1’1’:’:: l% i
735214986
18 71 qeo | 12 !
8 114139 ]|6Ff25:7:
’26:” T o . i :{9’::1
417319856 |1]2:
:1’4"” ﬁiiiiiiiiiiiii: ’51’:::1 éff:j,: :{6”7”:::“; % i
628|413 |15 7109
51 7 [ 1 I _ [ T
5/9|1]6]2 /7348
:’ ’1’1’:;,’,’,’,’,’,’,} ’1’5’1111 é’,iiii,ffffff,} i i ;2”:7::::::7
15|67 14 /2(8]9 3
13 10 14 1 I3 | 15
94786 |3f1]2])5
L I ] [ 16 1 0]
3181211519 ]7)6|4

Copyright (c) www.dailykillersudoku.com




